
Installation Instructions

PIXIE 
Pendant and Surface Luminaire

N U L I T E  L i g h t i n g  I n c .  1 0 7 7 0  E a s t  5 1 s t  A v e n u e  D e n v e r ,  C O  8 0 4 3 0     P h o n e  ( 3 0 3 )  2 8 7 - 9 6 4 6     w w w . n u l i t e - l i g h t i n g . c o m

WARNINGS:
•Risk of electrical shock or fire, disconnect power during installation or servicing. Read 
all instructions completely before starting installation. Install and wire in accordance to all 
national and local codes by a certifi ed electrician. Fixture may be sharp, handle with care. Let 
fixture cool before maintenance. 

AVERTISSEMENTS 
•Risque d’électrocution ou d’incendie. Déconnectez l’alimentation durant l’installation ou la 
maintenance. Lisez attentivement toutes les instructions avant de commencer toute installation. 
Faites installer et câbler selon les normes Nationales et Locales par un électricien certifi é. 
Les installations peuvent être coupantes, à manipuler avec précaution. Laissez refroidir les 
installations avant une opération de maintenance. 

ADVERTENCIA 
Riesgo de descarga eléctrica oun incendio, desconecte la alimentación durante la instalación 
o servicio. Leer todas las instrucciones completas antes de empesar la instalación. Instalar y 
cablear en acuerdo a las reglas nacionales y códigos locales por un electricista certifi cado. 
El accesorio puede estar agudo, agarre con cuidado deje que el acessorio. Enfriar antes de 
mantenimiento.

2021

1

DISTORT JOINT

PXP2-F
Pendant
FLat Lens

PXR2-F
Surface Mount
FLat Lens

PXP3-R
Pendant
Round Lens

PXR3-R
Surface Mount
Round Lens

PXP3-S
Pendant
Square Lens

PXR3-S
Surface Mount
Square Lens



N U L I T E  L i g h t i n g  I n c .  1 0 7 7 0  E a s t  5 1 s t  A v e n u e  D e n v e r ,  C O  8 0 4 3 0     P h o n e  ( 3 0 3 )  2 8 7 - 9 6 4 6     w w w . n u l i t e - l i g h t i n g . c o m 2021

2

Installation Instructions

PIXIE 
Pendant and Surface Luminaire

QUICK THROUGH WIRING 
FOR CONTINUOUS ROW

PAGE 4



N U L I T E  L i g h t i n g  I n c .  1 0 7 7 0  E a s t  5 1 s t  A v e n u e  D e n v e r ,  C O  8 0 4 3 0     P h o n e  ( 3 0 3 )  2 8 7 - 9 6 4 6     w w w . n u l i t e - l i g h t i n g . c o m 2021

3

PIXIE 

If access to wire way is needed, remove the four screws 
from the LED refl ector. To remove the refl ector completely, 
separate the electrical disconnect. Store the refl ector in a 
clean, safe place during installation or maintenance.

OVERVIEW / MAINTENANCE

PLAN VIEW OF HOUSING BACK START OF ROW INSTALLATION

COVER HARDWARE (4) #8 X 1/4”
PHILLIPS PAN HEAD SCREWS

REFLECTOR OR 
DRIVER COVER

EXTRUDED ACRYLIC 
SNAP-ON LENS

STAND ALONE LUMINAIRE END CAPS AT EACH END
OPTIONAL 2, 3, 4 AND 8 FOOT LENGTHS

5/8” AIRCRAFT CABLE MOUNTING

3/4”

3-11/16” SURFACE POWER FEED1-1/2”
AIRCRAFT 

CABLE POWER 
FEED CORD

4-7/8” SURFACE MOUNTING

AVOID TOUCHING THE LED BOARDS
Gently squeeze lens to 
one side of the housing 
and rotate out.

1/4” SURFACE MOUNTING HOLES AND
7/8” POWER FEED K.O. STANDARD

MOUNTING
HARDWARE IS 
NOT INCLUDED

OPTIONAL AIRCRAFT 
CABLE MOUNTING WITH 
1/4-20 CABLE GRIPPER

POWER CORD AND WHITE SNAP
BUSHING (OPTIONAL BLACK)

INSTALL FROM ABOVE LUMINAIRE

LUMINAIRE LENGTH

1/8”
END CAP

MOUNTING HOLES

POWER FEED 
KNOCK-OUT(S)

STRUCTURE (POWER FEED)T-BAR (POWER FEED)
4S J-BOX WITH COVER,
FLEX AND WIRE (BY OTHERS) J-BOX, FLEX, WIRE AND SECURE 

TO STRUCTURE (BY OTHERS)

BRACKET BAR, GROUND SCREW AND
1/4-20 STUD (BRACKET BAR MOUNTING
SCREWS BY OTHERS)

5” WHITE CANOPY 
(CONSULT FACTORY 
FOR OTHER COLORS)

5” WHITE CANOPY (CONSULT 
FACTORY FOR OTHER COLORS)

STRAIGHT 18/3, 18/4 OR 18/5 WHITE 
SJT POWER CORD (CONSULT 
FACTORY FOR BLACK)

STRAIGHT 18/3, 18/4 OR 18/5 WHITE SJT POWER 
CORD (CONSULT FACTORY FOR BLACK)

CABLE COUPLER AND 1/16” 
GALV. AIRCAFT CABLE

CABLE COUPLER AND 1/16” 
GALV. AIRCAFT CABLE

WHITE SNAP BUSHING (OPTIONAL BLACK)
WHITE SNAP BUSHING (OPTIONAL BLACK)

1/2” NPT FITTING 
AND LOCK NUT

J-BOX CLIP

T-BAR CLIP WITH 1/4-20 STUD
(TIE BACK TO STRUCTURE)

AIRCRAFT CABLE TO CEILING INSTALLATION

STRUCTURE (NON-POWER FEED)T-BAR (NON-POWER FEED)

2” WHITE CANOPY 
(CONSULT FACTORY 

FOR OTHER COLORS)

2” WHITE CANOPY 
(CONSULT FACTORY 

FOR OTHER COLORS)

CABLE COUPLER AND 1/16” 
GALV. AIRCAFT CABLE

CABLE COUPLER AND 1/16” 
GALV. AIRCAFT CABLE

T-BAR CLIP WITH
1/4-20 STUD (TIE BACK

TO STRUCTURE)

1/4-20 STUD INTO
STRUCTURE BY OTHERS

AIRCRAFT CABLE TO LUMINAIRE INSTALLATION



N U L I T E  L i g h t i n g  I n c .  1 0 7 7 0  E a s t  5 1 s t  A v e n u e  D e n v e r ,  C O  8 0 4 3 0     P h o n e  ( 3 0 3 )  2 8 7 - 9 6 4 6     w w w . n u l i t e - l i g h t i n g . c o m 20214

32
ROW INSTALLATION - INDIVIDUAL INSTALLATION FOLLOW STEP 1

SURFACE MOUNTING

1

Layout and install the luminaire to desired surface 
with adequate hardware using the 2 mounting 
holes. Mounting hardware is not included. (Refer
to plan view).

Follow step 1 for individual installation.

Remove end cap knock-outs and install the chase 
nipple into the starter. Silde the mid luminaire 
over the chase nipple and tighten nut snugly from 
inside the mid luminaire. 

MID LUMINAIRE

Secure the mid luminaire 
to surface with adequate 
hardware.

1

4 5

2

POWER FEED

NON-FEED

3

Remove end cap knock-out and install the chase 
nipple into the starter.

General construction, joining and wiring of the 
CPS option is the same as the standard. (Refer to 
luminaire installation).

The sensor box will add 
4-1/2” to the end of a row. 
To access the sensor box 
slide cover by hand.

To access the housing rotate 
the refl ector up and out.

CHASE NIPPLE 
AND NUT

CHASE NIPPLE 
AND NUT

The stand alone or starter luminaire must 
be level before cutting off extra cable or 
continuing the row installation. 

Install the stand alone or starter luminaire using 
one power feed and one non-feed aircraft cable 
mounting kits. (Refer to ceiling installation PG-2).

(Refer to luminaire
installation PG-2). 

STARTER LUMINAIRE

STARTER LUMINAIRE

MID LUMINAIRE

Layout and install the mid luminaire using 
one non-feed aircraft cable mounting kit.
Starting at the ceiling.

AIRCRAFT CABLE MOUNTING

SENSOR END BOX OPTIONAL CPS REFLECTOR

ROW INSTALLATION - INDIVIDUAL INSTALLATION FOLLOW STEPS 1 THROUGH 3
Individual installation follow steps 1 through 3.

Silde the mid luminaire 
over the chase nipple and 
tighten nut snugly from 
inside the mid luminaire.

STARTER
LUMINAIRE

MID
LUMINAIRE

PIXIE 


